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6학년 이름 :

4. 원기둥의겉넓이와부피

cm‹
4 cm

28 cm

1

cm¤

10 cm

4 cm2

200.96 cm¤

cm‹

5 cm

3

3

cm¤

3 cm

15 cm4

cm‹

26 cm

4.5 cm9 cm

5

13 cm

cm‹

8 cm

16 cm

6

cm¤

14 cm

7 cm7

cm‹

24 cm

16 cm

12 cm
3 cm8

cm¤

43.96 cm
15 cm

9

87920 cm‹
cm 90 cm

20 cm

10

교부_001017_6년챌린지.ps  2011.5.27 3:10 PM  페이지8   mac01 MDPREP1_RipControl 2400DPI 150LPI  T



9

549.5 cm‹
cm

10 cm12

1884 cm‹
24 cm

cm

24 cm

13

376.8 cm¤
cm¤

12 cm

14

138.16 cm¤
2 cm cm

15

24 cm

8 cm

6 cm

24 cm

16

150.72 cm¤
cm‹ 8 cm

17

18

339.12 cm

cm¤

6 cm

18

cm‹

5 cm

11 cm

19

94.2 cm

cm‹
94.2 cm

20

30 cm
30 cm 30 cm

cm‹

30 cm 30 cm

30 cm

11

009-교부_001017_6년챌린지.ps  2011.5.31 8:11 PM  페이지9   mac01 MDPREP1_RipControl 2400DPI 150LPI  T



24

6학년 이름 :6학년 이름 :

4. 원기둥의겉넓이와부피

9420 cm‹

cm
30 cm

cm1 4 cm
10 cm

6 cm
10 cm

cm¤

4

3 cm
3 cm

cm¤
3 cm

30 cm

2

785 mL

549.5 mL

5 cm
cm

3

cm

15.7 cm

9 cm 5 cm 6 cm

5

교부_018033_6년챌린지.ps  2011.5.27 3:11 PM  페이지24   mac01 MDPREP1_RipControl 2400DPI 150LPI  T



25

113.04 cm¤
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53

01. =4@2=2 (cm)
= * *3.14*
=2*2*3.14*28
=351.68 (cm‹)

03. = *
=200.96*5
=1004.8 (cm‹)

04. =3*2*3.14*15
=282.6 (cm¤)

= *
=282.6*3
=847.8 (cm¤)

05.
= @2
=4.5*4.5*3.14*26@2
=826.605 (cm‹)

06.
13-8=5 (cm)

=8*8*3.14*5
=1004.8 (cm‹)

07. 7cm
14cm

= *2+
=7*7*3.14*2+7*2*3.14*14
=307.72+615.44
=923.16 (cm¤)

8.
= -
=8*8*3.14*24-3*3*3.14*12
=4823.04-339.12
=4483.92 (cm‹)

09.
= @3.14@2
= @3.14@2
=43.96@3.14@2=7 (cm)

= *2+
=7*7*3.14*2+43.96*15
=307.72+659.4
=967.12 (cm¤)

15.
= - *2
=138.16-(2*2*3.14)*2
=138.16-25.12=113.04 (cm¤)

= @
=113.04@(2*2*3.14)
=113.04@12.56
=9 (cm)

19.
5 cm

11 cm
=5*5*3.14*11=863.5 (cm‹)

11 cm
5 cm

=11*11*3.14*5=1899.7 (cm‹)
1899.7-863.5=1036.2 (cm‹)

20. 94.2 cm
94.2 cm
= @3.14@2
=94.2@3.14@2
=15 (cm)

=94.2- -
=94.2-30-30
=34.2 (cm)

=15*15*3.14*34.2
=24162.3 (cm‹)

1. 351.68 cm‹ 2. 251.2 cm¤

3. 1004.8 cm‹ 4. 847.8 cm¤

5. 826.605 cm‹ 6. 1004.8 cm‹

7. 923.16 cm¤ 8. 4483.92 cm‹

9. 967.12 cm¤ 10. 70 cm
11. 5805 cm‹ 12. 7 cm
13. 10 cm 14. 533.8 cm¤

15. 9 cm 16. 48
17. 226.08 cm‹ 18. 169.56 cm¤

19. 1036.2 cm‹ 20. 24162.3 cm‹

8 9 4. 원기둥의겉넓이와부피
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1. 7 cm 2. 9 3. 56 cm‹

4. 7 cm 5. 1.53 L 6. 616 cm¤

7. 5400 cm¤ 8. 318 cm¤ 9. 24.3 cm

10. 6750 cm‹

22 23 3. 직육면체의겉넓이와부피

03.

2+2+1+1+1=7
2*2*2=8 (cm‹)

8*7=56 (cm‹)

04.
=780@(20*13)=3 (cm)

=
-

=10-3=7 (cm)

05. 20-1.5*2=17 (cm)
13-1.5*2=10 (cm)
10.5-1.5=9 (cm)
=17*10*9=1530 (cm‹)=1.53 (L)

06. (20*10)*2+(20+10+20+10)*3
+(3+3+3+3)*3

=400+180+36=616 (cm¤)

07.

30 cm
30*30*6=5400 (cm¤)

08. 11 cm 3 cm
9 cm

=(11*3)*2+(11+3+11+3)*9
=66+252
=318 (cm¤)

10.
60@4=15 (cm)

=15*15*30=6750 (cm‹)

120 cm

90 cm

1 1

2 12

1. 10 cm 2. 963.72 cm¤ 3. 3 cm
4. 125.6 cm¤ 5. 6.25 cm 6. 1256 cm‹

7. 1106.5 cm¤ 8. 602.88 cm¤ 803.84 cm‹

9. 1491.5 cm‹ 10. 7159.2 cm‹

24 25 4. 원기둥의겉넓이와부피

04.
4*2*3.14*10=251.2 (cm¤)

6*2*3.14*10=376.8 (cm¤)
376.8-251.2=125.6 (cm¤)

05.
9*5*15.7=706.5 (cm‹)

6*6*3.14=113.04 (cm¤)

cm 113.04* =706.5
=706.5@113.04=6.25 (cm)

06. 1- =

113.04*20* =1256 (cm‹)

07. (5*5*3.14@2)*2+(10*3.14*40@2)
+(40*10)=78.5+628+400=1106.5 (cm¤)

08. (6*6*3.14-2*2*3.14)*2
+6*2*3.14*8+2*2*3.14*8
=200.96+301.44+100.48=602.88 (cm¤)

6*6*3.14*8-2*2*3.14*8
=904.32-100.48=803.84 (cm‹)

09.

(5*5*3.14*38)@2=1491.5 (cm‹)

10.
62.8@3.14@2=10 (cm)

62.8-(20*2)=22.8 (cm)

10*10*3.14*22.8=7159.2 (cm‹)

22 cm 16 cm

22 cm16 cm 5 cm

5
9

5
9

4
9
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